Solution to Kewill Ltd
Working

	Project
	Initial Inv
	NPV
	P.I
	Ranking
	

	
	     £
	      £
	
	
	

	A
	(1,800)
	3,200
	1.78
	2
	

	B
	(2,750)
	3,300
	1.2
	4
	

	C
	(5,200)
	2,600
	0.50
	5
	

	D
	(1,000)
	1,800
	1.80
	1
	

	E
	(4,000)
	5,650


	1.41
	3


	


a) If the company is not in a capital rationing situation, all projects should be accepted as they all have positive NPVs.

b) Repeat project D 9 times, NPV = 9 x £1,800 = £16,200

c) If the projects are divisible, projects D, A, E and 80% (2,200/2,750) of B should be undertaken.
	Project
	Cost £
	Cumulative 
cost £
	NPV £

	D
	1,000
	1,000
	1,800

	A
	1,800
	2,800
	3,200

	E
	4,000
	6,800
	5,650

	B
	2,200
	2,200
	2,200/2,750 x 3,300 = 2,640

	
	
	9,000
	13,290


Total NPV = £1,800 + £3,200 + £5,650 + 0.8 x £3,300 = £13,290
d) If the projects are not divisible different combinations are selected to maximise NPV:

A, B, D = NPV = £8,300

A, B, E = NPV = £12,150

A, C, D = NPV = £7,600

A, D, E = NPV = £10,650

B, C, D = NPV = £7,700
B, D, E = NPV = £10,750 

